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CHAPTER 7

Audit Sampling

LEARNING OBJECTIVES
	
	Review Checkpoints
	Exercises Problems
	Cases

	1.
Define and explain the terms unique to audit sampling, including the fundamental technical differences between statistical and nonstatistical sampling.
	1, 2, 3, 7
	
	

	2.
Identify audit work considered audit sampling and distinguish it from work not considered audit sampling.
	4, 5, 6
	44
	

	3.
Develop a simple audit program for a test of controls audit of a client's internal control procedures, including:
	
	46
	26

	3A.
Specify objectives, deviation a conditions, populations and sampling units.
	8
	45
	27

	3B.
Determine sample size and select sampling units.
	9, 10, 11
	
	26

	3C.
Evaluate evidence from a test of controls audit.
	12, 13
	47
	28

	4.
Develop a simple audit program for an account balance audit considering the influence of risk and tolerable misstatement, including:
	14, 15, 16, 25
	49
	

	4A.
Specify objectives and define a population for data.
	17, 18
	
	

	4B.
Determine sample size and select sampling units.
	19
	49
	29, 51

	4C.
Evaluate monetary error evidence from a balance audit sample.
	20, 21, 22, 23, 24
	48
	31, 50, 52



POWERPOINT SLIDES
PowerPoint slides are included on the website. Please take special note of:

* Why Auditors Sample

* Statistical Sampling

SOLUTIONS FOR REVIEW CHECKPOINTS

7.1
Auditors sample for reasons of (a) efficiency--they need to make decisions about data populations without expending the time and effort of auditing them 100 percent and (b) timeliness--they need to finish audits in a reasonable time to meet reporting deadlines.

7.2
The primary distinctions between statistical and nonstatistical sampling are:

a.
The only rule applicable to nonstatistical sampling is that the sample must be representative of the population.

b.
Nonstatistical sampling does not utilize statistical calculations to express the results.

c.
Statistical samples must be random.

d.
Statistical sampling involves using mathematical calculations to express the results.

7.3
Nonsampling risk is the probability of making a wrong decision about a population of data. It arises from all sources other than the probability that a "representative sample" actually does not represent the population. Sources of nonsampling error, hence nonsampling risk include:

a.
Misjudging the inherent risk

b.
Misjudging the control risk

c.
Human error

1.
Poor choices of procedures

2.
Mistakes in procedural applications

3.
Failure to recognize a deviation or error

4.
Signing off on work not actually performed

Examples of nonsampling risk:

Performing inappropriate procedures.

Failure to consider test results adequately.

Neglecting the importance of analytical review.

Failure to maintain control over audit procedures.

Lack of professional skepticism.

7.4
A test of control procedure is a statement of

a.
Identification of a population from which sampling units are to be drawn

b.
Expression of an action taken to produce evidence about a client control procedure.

7.5
Audit conclusions can be made only about the population from which the sample was drawn, and a conclusion can only be valid if the sample on which it is based actually shows the characteristics of the population. Auditors can attempt to achieve representativeness, but they cannot guarantee it. Sampling risk--the probability that the sample does not adequately reflect the population--always exists.

7.6
A company's control structure should achieve the following control, objectives validity of recorded transactions, completeness of recorded transactions, authorization of transactions, accuracy of transactions, classification of amounts in proper accounts, complete and GAAP accounting for transactions, and recording of transactions in the proper accounting period. These are the seven control objectives introduced in Chapter 9.

7.7
Test of control audit programs are used to audit compliance with internal controls procedures.

Account balance audit programs are used to audit the dollar amounts and disclosures in financial statements.

7.8
Compliance deviations should be defined in advance so auditors will know what to look for and will know one when they see it.

Seven Examples--Based on Seven General Control Objectives:

Objective

Example

1.
Validity
1.
Sale recorded without supporting shipping orders.

2.
Authorization
2.
Lack of credit manager approval for a credit sale.

3.
Accuracy
3.
Mathematical errors in sales invoice calculations.

4.
Classification
4.
Sales classified in wrong product line revenue account.

5.
Proper Period
5.
Sales recorded in month (quarter, year) before the actual shipment.

6.
Accounting
6.
Sales charges fail to be posted to a customer's account.

7.
Completeness
7.
Shipments fail to be billed to customers and recorded as sales and receivables.

7.9
Judgments affecting sample size for test of controls auditing.

	Judgment


	
	Influence on sample size



	1.
Acceptable risk of assessing control risk too low
	Inverse.
	The greater the acceptable risk, the smaller the sample.

	2.
Acceptable risk of assessing control risk too high
	Inverse.
	The greater the acceptable risk, the smaller the sample.

	3.
Tolerable deviation rate
	Inverse.
	The higher the tolerable rate, the smaller the sample.

	4.
Expected population deviation rate (an estimate rather than a judgment)
	Direct.
	The higher the expected rate, the larger the sample.


The sample size is also directly related to the population size, although the influence is generally minor. The larger the population, the larger the sample, but not much.

7.10
A sample can be considered random if each unit in the population has an equal likelihood (probability) of being included in the sample.

7.11
Four sample selection methods:

1.
Unrestricted random sampling: Associate unique random numbers from a printed table or generated by a computer to units in the population.

2.
Systematic random sampling Take one (or more) random starts in the physical representation of the population, then select that unit and every kth (k = population size/sample size, and k is multiplied by the number of random starts) until the population is entirely scanned.

3.
Haphazard selection: Use any unsystematic way of selecting sample units without imposing a bias for or against units in the population.

4.
Block sampling: Select one or more contiguous sets (series) of transactions, for example, a short numerical sequence, or the transactions in a day, week or month.

7.12
The risk of assessing the control risk too low has the potential of affecting audit effectiveness, thus damaging the quality of the audit for users. Professionally, in light of responsibility to users, effectiveness is more important than efficiency, which is affected by the risk of assessing the control risk too high.

7.13
When test of controls auditing is timed early, an audit manager must decide what to do about the remaining period (for example, the period October through December after doing test of controls auditing in September for a December 31 year-end audit).

Depending upon the circumstances indicated by several sources of information mentioned in the text, an audit manager can decide to (1) continue the test of controls audit work because knowledge of the state of control performance is necessary to justify restriction of other audit work, (2) stop further test of controls audit work because (a) compliance evidence derived from other procedures provides sufficient evidence or (b) information shows the control has failed, control risk is high, and other work will not be restricted. Whatever the final judgment, considerations of audit effectiveness and efficiency should always be uppermost in the audit manager's mind.

7.14
Expanded risk model:
AR = IR x CR x AP x TD

Solve for TD, when:
.048 = 1.0 x .4 x .6 x TD

TD =      .048     = .2

     1.0 x .4 s .6

The tolerable misstatement ($25,000) and estimated standard deviation ($25.00) are "noise" in the question.

7.15
An incorrect acceptance decision directly impairs the effectiveness of an audit. Auditors wrap up the work and the material misstatement appears in the financial statements.

An incorrect rejection decision impairs the efficiency of an audit. Further investigation of the cause and amount of misstatement provides a chance to reverse the initial decision error.

7.16
The tolerable misstatement (judged for the audit of a particular account balance) should not be more than the monetary misstatement considered material to the overall financial statements. Also, the aggregation of multiple tolerable misstatement amounts for several different balances under audit must be equal to or less than the amount of monetary misstatement considered material to the overall statements.

7.17
The appropriate general set of objectives is the objective(s) of obtaining evidence about each of the client's assertions in the financial balance. In general, the assertions are about:

Existence or occurrence (and cutoff)

Completeness (and cutoff)

Rights and obligations (ownership, owership)

Valuation or allocation

Presentation and disclosure

7.18
Two main reasons for stratifying a population when sampling for variables (dollar) measurement:

a.
Some units may be individually significant (e.g., large) and taking sampling risk with respect to them is not a good idea.

b.
Auditors may want to achieve audit coverage of a large proportion of dollars in the balance by choosing the largest units (a protective sampling objective, which is closely related to avoiding sampling risk).

7.19
Influence on sample size: See Exhibit 7-6 in text (also reproduced in the Instructors' Manual as a transparency master).

7.20
The important thing is to audit all the sample units. You cannot simply discard one that is hard to audit in favor of adding to the sample a customer whose balance is easy to audit. This action might bias the sample. If considering the entire balance to be misstated will not alter your evaluation conclusion, then you do not need to work on it any more. Your evaluation conclusion might be to accept the book value, as long as the account counted in error is not big enough to change the conclusion. Your evaluation conclusion might already be to reject the book value, and considering another account to be misstated just reinforces the decision.

If considering the entire balance to be misstated would change an acceptance evaluation to a rejection evaluation, you need to do something about it. Since the example seems to describe a dead end, you may need to select more accounts (expand the sample) and perform the procedures on them (excluding confirmation) and reevaluate the results.

7.21
The three basic steps in quantitative evaluation are these:

1.
Figure the total amount of actual misstatement found in the sample. This amount is called the known misstatement.

2.
Project the known misstatement to the population. The projected amount is called the likely misstatement.

3.
Compare the likely misstatement (also called the projected misstatement) to the tolerable misstatement for the account, and consider the

a.
Risk of incorrect acceptance that likely misstatement could be less than tolerable misstatement even though the actual misstatement in the population is greater, or the

b.
Risk of incorrect acceptance that likely misstatement could be greater than tolerable misstatement even though the actual misstatement in the population is smaller.

7.22
The two methods of projecting the known misstatement to the population are the average difference method and the ratio method. Refer to Chapter 7 for formula expressions of each.

7.23
Some of the signs that an unstratified random sample is actually representative of the population from which it was drawn include:

(1)
the average recorded amount in the sample is about the same as the average recorded amount in the population,

(2)
the sample contains a range of item values large and small similar to the range in the population,

(3)
the standard deviation of the recorded amounts in the population is about the same as the standard deviation of the recorded amounts in the population.

7.24
The nonstatistical measurements described in Chapter 7 leave only one avenue for "accounting for further misstatement": Apply experience and professional judgment to decide if further misstatement could be large enough to prevent an acceptance decision. If the projected likely misstatement is a great deal less than the amount considered material, an auditor could judge that further misstatement, if known, would not affect acceptance. If projected likely misstatement is close to the amount considered material, maybe acceptance is not warranted.

With statistical calculations, the further misstatement can be measured (Chapter 20).

7.25
Account balances can be audited, at least in part, at an interim date. When account balance audit work is done before the company's year-end date, auditors must extend the interim-date audit conclusion to the balance-sheet date. The process of extending the audit conclusion amounts to nothing more (and nothing less) than performing substantive-purpose audit procedures on the transactions in the remaining period and on the year-end balance to produce

sufficient competent evidence for a decision about the year-end balance.

Additional considerations include:

a.
If the company's internal control over transactions that produce the balance under audit are not particularly strong, you should time the substantive detail work at year-end instead of at interim.

b.
If control risk is high, then the substantive work on the remaining period will need to be extensive.

c.
If rapidly changing business conditions might predispose managers to misstate the accounts (try to slip one by the auditors), the work should be timed at year-end. In most cases, careful scanning of transactions and analytical review comparisons should be performed on transactions that occur after the interim dare.

As an example, accounts receivable confirmation can be done at an interim date. Subsequently, efforts must be made to ascertain whether controls continue to be strong. You must scan the transactions of the remaining period, audit any new large balances, and update work on collectibility, especially with analysis of cash received after the year-end.

SOLUTIONS FOR KINGSTON CASE
7.26
Test of Controls Audit Program

NOTE TO INSTRUCTOR: The procedure in the program in this solution corresponds to the program in the textbook, procedures 1a, 1b, 1c, 1d, 1e, 1f, and 1g. The attributes (deviations) correspond to the column headings in the working paper in text Exhibit 7-2. (The classification attribute--text program procedure 1h--is omitted.)

Kingston Company

Test of Controls Audit Program
Prepared by_____

(Limited to audit of recorded sales)
Date____________

Select a sample of _____ recorded sales invoices from the sales invoice copy numerical file, which contains attached bill of lading copy and the customer sales order.

a.
Determine whether a bill of lading is attached.

b.
Determine whether credit was approved.

c.
Determine whether product prices used on the invoice agree with the approved price list.

d.
Compare the quantity billed to the quantity shipped.

e.
Recalculate the invoice arithmetic.

f.
Compare the shipment date with the invoice (record) date.

g.
Trace the invoice to posting in the general ledger control account and in the correct customer's account.

7.27
Test of Controls Sampling Documentation

7.28
Perform Test of Control Procedures

a.
The 21st random number in column 1 of Appendix 20-B is
7847

Add the constant
32071
To get the invoice number
39918

NOTE TO INSTRUCTOR:

You may want to assign a single sample size or different sample sizes to groups of students. In the simulated invoice deviations, larger samples point to different conclusions. Ten Sampling Data Sheets for samples of size 30, 60, 80, 90, 120, 160, 220, 240, 260, and 300 have been prepared and are presented on the following pages.

All the data sheets for the different sample sizes are in the solution manual. I did not try to write conclusions on them (solution to Problem 7.28). I think it would be a good class exercise to take transparencies of the data sheets to class and write different students' conclusions for the same and different sample sizes on them. This demonstration may shed some light on nonstatistical evaluation.

In terms of qualitative evaluation, students might notice that lack of credit approval occurred all year (more later in the year), the wrong unit prices all occurred in July-August-September, the wrong quantities, arithmetic, and record dates occurred in the later months. Instructors may want to refer to the Kingston error "story" at the beginning of this Instructors' Manual.

The same data sheets are presented in Chapter 20, with the statistical data inserted.

The Sampling Data Sheet blank form for handout is on the next page.

The 10 following pages contain the data sheets with sample data. All the pages are labeled Exhibit 7.27-1. Sample sizes differ.

[SEE EXHIBIT 7.27-1 ON FOLLOWING PAGE

Test of Controls Sampling Data Sheet]

7.29
Accounts Receivable Sample Size

In all humility, the authors admit they do not know how to decide upon and justify a sample size without using any statistical calculations. The sample size decision is arbitrary. You may wish to point out that a size too small will cause audit costs to be higher if accounts need to be added later (because the cost per unit in the initial sample is given as $8, and the cost per unit to audit later is given as $19).

Problems in Chapter 20 present a more elaborate dialog between the auditors, with more statistics-related planning features. The Chapter 20 problems use the same data base presented herein and require students to figure sample size with statistics calculations and evaluate results with statistics.

7.30
Calculation of Variables Sampling Quantitative Evidence

a.
Analyses of nonrandom samples--samples of largest accounts in descending order: Conclusions are limited because of nonrandom samples.

Qualitative: All dollar differences occurred in invoices issued late in the year. This corresponds with the Kingston error "story" and with the fact that earlier errors were noticed by customers and corrected by Kingston.

Sample
Amount
Remarks

100
$ 3,140
Overstatement does not exceed $10,000 tolerable misstatement.

150
$ 7,137
Overstatement does not exceed $10,000 tolerable misstatement, but numerous errors show up in the last 50 accounts.

200
$10,314
Overstatement exceeds $10,000 tolerable misstatement. The question is: How much more misstatement is in the population?
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220

$10,722
A few more accounts, a little more overstatement.

230
$10,786
ditto

240
$11,017
ditto

260
$11,232
ditto

280
$11,492
ditto

300
$11,776
ditto

320
$11,650
ditto

340
$12,205
The misstatements seem to be smaller and less frequent.

360
$12,412
ditto

380
$12,545
ditto

400
$12,720
This is a lot of work. Maybe we can adjust for $12,720 and let it go at that. But: How much more misstatement lurks in the 1,100 accounts containing $109,101 recorded balances? They average $99.18 each, and so far, our average misstatement has been $31.80 and about 7% of the recorded amounts.

b.
Random sample projection calculations show a materially misstated balance right from the beginning. The projected likely misstatement amounts exceed the $10,000 tolerable misstatement. These calculations are made despite the relatively small number of misstatement in the smaller samples. (The statistical upper error limit, using a risk of incorrect acceptance of 2 percent is shown here for reference. This calculation is required in a problem in Chapter 20. However, it may help with discussing "further misstatement.")

With the smaller samples, students may wish to consider the risk of incorrect rejection. Further calculations are given in the solutions to Chapter 20 problems.


Projected Likely Misstatement





Chapter 20


Sample
Ratio
Difference
UEL (2 %)


100
$13,147
$14,025
$23,432


150
$16,432
$16,870
$24,879


200
$20,228
$19,575
$28,240


220
$19,287
$18,784
$26,735


230
$17,022
$17,967
$25,558


240
$16,985
$18,031
$25,394


260
$16,949
$17,850
$24,780


280
$17,045
$18,027
$24,586


300
$16,738
$17,295
$23,398


320
$16,665
$17,100
$22,895


340
$16,355
$16,531
$21,997


360
$16,298
$16,100
$21,285


380
$16,160
$15,675
$20,601


400
$15,708
$14,936
$19,583

Refer to the Kingston error "story" at the front of the instructors' manual. The 1500 accounts have 191 dollar misstatements amounting to a total of $14,054, all overstatements. There is another $1,050 overstatement in the two misstatements in the six accounts audited separately as individually significant items.

SOLUTIONS FOR MULTIPLE-CHOICE QUESTIONS
7.31
a.
Incorrect.
Auditing all items in a balance is not a sample
b.
Correct.
Audit sampling requires both (1) sample--less than 100 percent, and (2) purpose of making a conclusions about the



whole population.

c.
Incorrect.
The purpose needs to be a conclusion about the handling of all the transactions.

d.
Incorrect.
Analytical procedures are not performed on a less-than-100 percent basis.

7.32
a.
Incorrect.
Statistical sampling requires calculation of results.

b.
Incorrect.
All sampling, including statistical sampling, requires representative sample selection.

c.
Correct.
Sample is representative and statistics is used to calculate and express the results.

d.
Incorrect.
All sampling, including statistical sampling, requires representative sample selection.

7.33
a.
Incorrect.
Sampling risk exists in all sampling applications.

b.
Incorrect.
This is one aspect of nonsampling risk.

c.
Incorrect.
This is a definition of inherent risk.

d.
Correct.
This definition from the text contains the idea that the sample might not truly represent the population.

7.34
a.
Incorrect.
Sampling recorded sales will not help discover unrecorded sales.

b.
Correct.
The shipping documents represent the goods given to customers which should be recorded as sales.

c.
Incorrect.
The fact that a customer placed an order does not mean that a sale was actually completed.

d.
Incorrect.
(This is the throwaway!) The receiving reports do not have anything to do with selling or shipping goods to customer.

7.35
a.
Correct.
The four factors influence sample size in the same direction, toward smaller sample size.

b.
Incorrect.
(reason in a.)

c.
Incorrect.
(reason in a.)

d.
Incorrect.
(reason in a.)

7.36
a.
Incorrect.
(reason in b.)

b.
Correct.
The factors influence sample size in the same direction--toward larger sample size.

c.
Incorrect.
(reason in b.)

d.
Incorrect.
(reason in b.)

7.37
a.
Incorrect.
Audit sampling is a method for applying procedures.

b.
Incorrect.
This is a partial statement of the assertions in accounts receivable.

c.
Correct.
Confirmation is a procedure.

d.
Incorrect
(but second best). This describes evidence obtained, but not a procedure for obtaining it.

7.38
a.
Correct.
These factors contain all the error estimates.

b.
Incorrect.
The auditor should not ignore the projected and possible error factors.

c.
Incorrect.
This item double-counts the known error in the sampled items. It is included in the projected likely error.

d.
Incorrect.
This ignores the projected likely error.

7.39
a.
Incorrect.
The known error is $480.

b.
Incorrect.
$480 is not a projected error amount.

c.
Correct.
$480/$48,000 x $490,000 = $4,900

d.
Correct.
$480/120 x 1,200 = $4,800

7.40
a.
Incorrect. 
An easy-to-audit account should not be substituted.

b.
Correct.
This is the conservative treatment.

c.
Incorrect.
Requiring adjustment is jumping to a conclusion about the single account. Steve is auditing the whole total, not just one customer.

d.
Incorrect.
This is an inappropriate blindness to the potential problem. There's also no evidence saying the balance is good.

7.41
a.
Correct.
Both risk of incorrect acceptance (RIA) and risk of assessing control risk too low (RACRTL) are decision errors that fail to recognize problems in balances and internal control, thus damaging the effectiveness of an audit.

b.
Incorrect.
The risk of incorrect rejection and risk of assessing control risk too high are related to the efficiency of an audit.

c.
Incorrect.
Only RACRTL, and not RIA, relates to control risk assessment decisions.

d.
Incorrect.
Only RIA, and not RACRTL, relates to evidence about assertions in financial statements.

7.42
a.
Incorrect.
No sampling method eliminates nonsampling risk.

b.
Incorrect.
Re-application of evaluation judgments based on factors in addition to the sample evidence is said to be an advantage of nonstatistical sampling.

c.
Correct.
Statistical sampling demands that the auditor be precise and definite in the approach to an audit problem by quantifying risk, rates, and materiality.

d.
Incorrect.
Statistical sampling requires quantification of risk and materiality judgments.

7.43
a.
Correct.
The expected monetary misstatement in the account is the other variable (not counting the standard deviation for classical sampling).

b.
Incorrect.
The tolerable misstatement for the account, not the overall materiality for the financial statements taken as a whole, is the relevant materiality consideration.

c.
Incorrect.
The risk of assessing control risk too low is relevant for test of controls sampling, not balance-audit sampling.

d.
Incorrect.
The risk of assessing control risk too high is relevant for test of controls sampling, not balance-audit sampling.

SOLUTIONS FOR EXERCISES AND PROBLEMS
7.44
Sampling and Nonsampling Applications

TO:
Mason & Jarr, CPAs

FROM:
Consultant-Advisor

DATE:

SUBJECT:
Application of audit sampling standards

At your request, I have reviewed the audit work in the case files you provided. Herein are my conclusions about proper application of the audit sampling standards.

a.
Accounting System Familiarization Work
The sample of three purchase orders and subsequent tracing the cash disbursement documents and procedures is not considered "audit sampling,". The work was properly done for the purpose of obtaining a preliminary understanding of the control structure, not for making a judgment about the effectiveness of control procedures. Audit sampling standards apply to samples taken for the purpose of reaching a conclusion 

about a whole population of data--in this case the cash disbursements controls--and not to work done to obtain a general understanding of a control structure.

b.
Inventory Count Accuracy Test
The sample of inventory items for recounting was a sampling application. Ms. Jarr took the sample for the purpose of making an overall judgment of the accuracy of the counting procedure. The sample did not meet requirements because it appears not to have been representative. Only the largest-quantity items were chosen, and the others were ignored. These items were probably the most likely to be miscounted. Extending the judgment that the 200 were not counted well enough to the other 800 was not warranted.

c.
Short-Term Debt Outstanding
The audit of all seven of the outstanding commercial paper note series was not a sampling application. Audit sampling is the application of audit procedures to less than 100 percent of the items in a balance. This work covered all the items.

d.
Client Representations
Audit sampling is not involved in the procedure of obtaining written client representations. Appropriate written representations can be obtained from the persons with highest authority, and they need not be obtained from less authoritative persons. Written representations are not a selection of less than 100 percent of events from a larger population. They constitute the entire record of relevant written client representations.

7.45
Test of Controls Audit Procedures Objectives and Deviations

1.
Credit Approval:

1.
Objective--
Determine whether credit is approved in accordance with company policy

2.
Deviation--
Absence of notation of approval or disapproval on customers' orders

2.
Validity of Sales and Proper Period Recording

1.
Objectives--
(i) Determine whether recorded sales invoices are supported by written notices of shipment,

(ii) Determine whether the sales record date is the same as the shipment date.

2.
Deviations--
(i) Absence of written shipment notice, (ii) Sales record date and shipment date are not the same.

3.
Accuracy of Sales Invoices

1.
Objectives--
Determine whether (i) Quantities on shipping notices and invoices are the same, (ii) Unit prices on the invoices are correct (catalog), and (iii) Invoice arithmetic is correct.

2.
Deviations--
(i) Quantities do not match, (ii) Wrong prices, (iii) Mathematical mistakes.

4.
Classification of Sales

1.
Objective--
Determine whether invoices are properly coded "9" for intercompany sales.

2.
Deviation--
(i) Invoice to an affiliated company not marked "9" and (ii) Invoice to an outside customer marked "9".

7.46
Timing of Test of Control Audit Procedures

TO:
Audit Manager

FROM:
Auditor Magann

DATE:
October 1

SUBJECT:
Interim evaluation of control over cash disbursement authorization

I audited 80 cash disbursements as of September 30 for compliance with the company control procedure requiring authorization of cash disbursements. I found no deviations. Had this audit sampling been performed at December 31 for the entire year's disbursements, I would be prepared to assign a low control risk (20 percent). This good evaluation would enable us to perform the planned analytical procedures to expenses and perform the level of inventory observation work specified in the preliminary audit program. With a higher control risk, the audit team would need to do more work in both areas.

7.46
Magann memo to Audit Manager, October 1, Page 2

Requirements
According to auditing standards, the audit team needs to determine whether the authorization control procedure worked as well during October-December period as it did for the period January-September. I think the audit team should audit the other 20 disbursements to find out.

Options
1.
The audit team cannot elect to forgo all further work on the control for the October-December remaining period.

2.
The audit team can complete the sampling application by auditing the other 20 sampling units selected at random. This approach will probably be the least costly because not much time will be required to audit 20 for compliance.

3.
The audit team could make inquiries about authorization control performance during October-December. However, the only useful information thus obtained would be news that the control is no longer performed. Then we would know to do more of the other audit work. Declarations from client personnel that the control "worked just fine" would not be good evidence of continued compliance.

4.
The three-month length of the remaining period is enough for concern. The audit team should not merely presume the control continued to operate effectively.

5.
If the dollar amount of transactions affected by the disbursement authorization control were substantially reduced, the audit team would not need to be so concerned about the control. However, cash disbursements are not likely to become unimportant in the circumstances.

6.
The audit team could forgo auditing the 20 disbursements and take its chances that the planned amount of analytical procedures for expenses and work on inventory observation would also reveal any control breakdown in October-December. I do not recommend such action in the circumstances because (a) we ought to evaluate control risk in order to plan the extent of the other work, (b) the cost of auditing 20 disbursements is not high, (c) audit completion might be delayed if we find out about a control breakdown too late, and (d) in these circumstances the dual-purpose nature of the other work may turn out to be circular and inefficient.

I trust I have made my preference for completing the test of controls audit of the sample of cash disbursements clear. I think this work should be done no earlier than December 20.

7.47
Calculate Sample Deviation Rates


Sample Sizes


30
60
80
90
120

Missing sales invoice
0.00%
0.00%
0.00%
0.00%
0.00%

Missing bill of lading
0.00%
0.00%
0.00%
0.00%
0.00%

No credit approval
0.00%
5.00%
7.50%
8.89%
8.33%

Wrong prices used
0.00%
0.00%
0.00%
0.00%
1.67%

Wrong quantity billed
3.33%
3.33%
5.00%
4.44%
3.33%

Wrong invoice arithmetic
0.00%
0.00%
0.00%
0.00%
0.83%

Wrong invoice date
0.00%
0.00%
0.00%
0.00%
0.00%

Posted to wrong account
0.00%
0.00%
0.00%
0.00%
0.00%


Sample Sizes


160
220
240
260
300

Missing sales invoice
0.00%
0.00%
0.00%
0.00%
0.00%

Missing bill of lading
0.63%
0.91%
0.83%
1.15%
1.00%

No credit approval
8.75%
7.73%
9.58%
10.00%
10.33%

Wrong prices used
2.50%
3.64%
3.75%
3.46%
4.00%

Wrong quantity billed
3.13%
2.27%
2.08%
1.92%
1.67%

Wrong invoice arithmetic
1.25%
0.91%
0.83%
0.77%
1.00%

Wrong invoice date
1.25%
0.91%
0.83%
0.77%
0.67%

Posted to wrong account
0.00%
0.00%
0.00%
0.00%
0.00%

The data in this problem is the same as obtained from evaluating all the samples in Kingston problem 7.27. The sample deviation rates are in the 10 sampling data sheets presented with the solution to Problem 7.27.

7.48
Stratified Calculation of Projected Likely Misstatement Using the Ratio Method



Sample Results



Recorded

Recorded
Error
PLM


Stratum
Amount
Sample
Amount
Amount*
(ratio)


1
$100,000
6
$100,000
- $  600
- $  600


2
$ 75,068
23
$ 21,700
- $  274
- $  948


3
$ 75,008
22
$  9,476
- $   66
- $  522


4
$ 75,412
22
$  4,692
- $   88
- $1,414


5
$ 74,512
23
$  1,973
  $   23
  $  869


$400,000
96
$137,841
- $1,005
- $2,615

1: -600/100,000 x 100,000 = -600

2: -274/21,700 x 5,068 = -948

3: -66/9,476 x 75,008 = -522

4: -88/4,692 x 75,412 = -1,414

5: 23/1,973 x 74,512 = 869

7.49
Determining the Risk of Incorrect Acceptance

Fred puts inherent and control risk together and calls them a "50-50 proposi-tion," so inherent risk can be taken to be 1.0 and control risk to be 0.50.

Jack says it's too bad analytical procedures do not reduce the audit risk in this situation, so analytical review risk seems to be 1.0.

Fred says the firm policy is to set audit risk very low. Students may think "very low" means different things. The solution below takes audit risk to be 0.01.

TD =             AR (=0.01)             = 0.02

    IR (=1.0) x CR (=0.50) x AP (=1.0)

This test of detail risk seems to be quite small, suggesting a large sample size. If the risk were larger, the sample size would be smaller. If it were smaller, the sample size would be larger.

7.50
a)
Critique of Last Year’s Circularization
Sample Selection- The method of sampling chosen in 1996 was only specific items and not representative.   The selection was made according to size and therefore cannot be considered representative.   It would be difficult to prove that testing only the 50 highest items gives an indication as to the reasonableness of the entire population.

Coverage- By sampling the 50 largest balances, the company only obtained a coverage of 20% or $2,600,000 out of $13,000,000 total.   Since, as in the above, the sample was not representative, there still exists a high possibility the lower balances in the A/R trail balance may be misstated.

Errors Discovered- In 1996 the errors discovered amounted to $190,000 out of $2,600,000, or approximately 7%.   No attempt was made to project the errors over the remaining population or adjust:

Materiality- pretax income $3,900,000 at   5% = $195,000

   Asset

  $26,000,000 at 1/2% = $130,000

Based on this, the above error of $190,000 would in my mind be considered material should have been adjusted.

Overdue Accounts- In determining samples, no mention or consideration was given to overdue accounts.   It would be apparent that those accounts past due are more likely to be uncollectible independent of their total value.

No Mention of Risk Assessment- As stated in the case Cajuzzi “loathe” to write off bad accounts.   With this knowledge of the client, the 1986 audit should have considered this in determining the extent of testing or materiality of the section.   This lends more credence to the fact overdue accounts may be uncollectible.

Linkage- No mention of compliance testing or effect this would have had on the amount of substantive testing was provided.

More testing- In light of the errors, the auditor in 1996 should have increased his sample and required adjustment or considered revision if no adjustment made.

b)
Random Sampling

Random sampling is a method of sampling whereby an attempt is made to choose the sample in such a way that its characteristics represent the characteristics of the entire population.   The results of any representative testing may be projected over the entire sample.

It is the fundamental principle of sampling theory as testing is designed to reduce work; in other words, the auditor does not look at the entire population but draw a conclusion about the whole population from a sample.   If the sample is not representative, then the objective of sampling cannot be met.

Non-random selection is appropriate when there are items in the population whose testing is warranted because of certain specific characteristics. For

example, items of an unusually large amount, or items occurring at a specific time period, may be good candidates for non-representative sampling. When the auditor can gain better assurance regarding the population characteristic by using non-random sampling, it should be used instead of representative sampling.

c)
Sampling Error
Sampling error is the risk that the sample results are not representative of the true population characteristic.   It can be controlled by increasing sample size (including using a lower precision limit and/or a higher confidence level).

Non-sampling error results when the auditor forms the wrong conclusion from the sample even though the sample was representative of the population. This type of error can be controlled by designing appropriate auditing procedures, using competent people to perform audit, using due care, and proper supervision and training of assistants.

d)
Sampling Plan- Variable
1)
Assess risk including inherent, control and audit risks as well as overall risk.

2)
Decide the level of assurance required from the circularization.

3)
Determine materiality for A/R precision based on accepted error and confidence level.

4)
Define the objective of the test: to determine if A/R balances are reasonable.

5)
Define the population: A/R Trial Balance.

6)
Determine method of selection: statistical or judgmental.

7)
If statistical will we use dollar unit or two strata sampling due to size.

8)
Determine any key items based on size, method of recording, etc. (e.g. all A/R accounts over $150,000 or over 91 days due).

7.51
Evaluation of Confirmation Results

   Evidence




Analysis and further procedures required
1. 8 confirms




-no further work required

   returned indicating

   full agreement

2. confirm returned



-check A/R subledger to verify number shown 
   

-O/S balance



as receivable

   Nov. not Dec. 



-if amount shown is December, consider 
  telephoning customer to discuss a discrepancy, if exists and reasons for it

- consider examining payments received by Delta after year payment may have been in-transit at year end

-potential misappropriation of cash receipt

3. confirm correct



-check credit memo cutoff to determine if 


   but Jan/96




memo related to goods that were received 

   credit memo




before year end and therefore memo should have been issued then

  






-if goods were returned in January (as evidenced by receiving report) then receivable is correct

4. confirm-open



-verify receivable balance by subsequent

   invoice system



payments, tracing to shipping document signed by customer indicating goods were received or confirm specific invoice(s)

5. confirm-discount



-probably correct, but possible cut-off 

   taken January 1996


error

-trace sales discount to relevant period

6. confirms returned


-alternative procedures have to be performed

   marked “no such



-consider possibility of non-existent 
               address”




 customers

-telephone customers to obtain verbal confirmation, followed up by written confirmation

-consider verification by subsequent payments, tracing to shipping documents

7. confirm- defective


-company has confirmed, therefore receivable

   product




exists, however collectibility is questionable

-consider collectibility of amount and include in allowance for doubtful accounts if necessary

-bring matter to attention of management and enquire if goods were returned

8. confirm not




-consider alternate methods of verification 

   returned




such as telephoning customer, examining evidence of subsequent payments, or agree to sales and shipping documents

9. negative confirms


-clear, nature of confirm is to return if a

   returned with no



disagreement exists, therefore since no

   notations




notation, it appears that no follow-up is required

10.confirm returned



-verify difference by examining cash   
   
   states customer



receipts cut-off over year-end and reviewing

   owed more




invoices

-ensure all were recorded in the proper periods

11.confirm returned



-existence of receivable has been verified

   balance correct but


-valuation may be in question due to 

   requesting extended


customer request for credit extension

   credit terms



-this may indicate potential cash collection problems

-bring to management’s attention and discuss collectibility of account making provision where necessary

12.confirm returned



-confirmation returned indicating existence

   see us 




of receivable but collectibility is in question since customer appears unwilling to pay

-bring matter to management’s attention and discuss collectibility - include amount in provision if deemed necessary

Further Procedures (required to complete the audit of accounts receivable)

-confirmation control sheet must be completed and errors found in the

sample should be extrapolated over the entire accounts receivable population.

-all employee receivables and other credit balances should be examined and noted.   Look for unusual activity in the account and note any large amounts outstanding or unusual credit terms and payments history.   Reclassify amounts as appropriate (e.g. Abbey).

-Babbitt Shipment from Labal should be reallocated to separate account (or balance sheet may show one heading ‘Accounts and notes receivable’ referenced to a further breakdown in the notes

Accounts receivable    XX

Notes receivable       XX
   XXX
-the Cadenza balance should be taken out of accounts receivable and set up as a liability (deferred revenue) until shipment of goods have been made.   The accounts receivable listing should be reviewed to ensure no other amounts representing deposits are included therein.

-receivables not circularized:

Dacron - consider current status of collection efforts and subsequent payments, if any

-amount may have to be fully or partially included in allowance if collectibility is uncertain

Cadaver Inc. - consider reason why management refused to allow circularization since a potential related party may exist, fraud may exist.

-consider subsequent payments made by Cadaver and vouching to shipping documents indicating goods were received by customer

-perform sales cut-off procedures including tests to ensure that receipts and sales were recorded in the proper periods and tests to ensure that all goods shipped over years end were invoiced and recorded in the proper periods

-also test that credit memos were properly issued and recorded for goods returned over the year end

-the aged listing should be totaled and cross added

-an estimate should be made for bad debt expense and recorded

-analytic review should be performed for a test of reasonableness of the final accounts receivable balance and the allowance amount

7.52 projected likely misstatement = ((162.83)/80)X 1740 = (3541.56). This is a little over half of what is considered material (tolerable)and would likely be acceptable by AUG-31 (old AUG-7). See page 237 for discussion.

7.53 a. The sample sizes using the formula (with k=0): n = R/P are as follows.

Case 1, n=50. Case 2,n=100. Case 3,n=29. Case 4,n=60. Case 5,n=12. Case 6,n=16

Anything larger than these discovery sample sizes reduces alpha risk, while beta risk (1 – confidence level) remains constant.

b. The achieved P or UELs are as follows. Case 1, UEL = .063. Case 2, UEL = .03. Case 3, UEL = .065. Case 4, UEL = .089. Case 5, UEL = .181. Case 6, UEL = .2.

c. Unacceptable for cases 1,4, and 6. The auditor can extend testing, insist on an adjustment, re-consider the extent of reliance on controls.

d. Sources of error helps auditor asses whether error is intentional or unintentional, and to assess qualitative aspects of internal control (for example, whether a particular individual, department, or time period is affected).

e. 1. auditor 2. auditor 3. auditor 4. auditor, or by formula 5. sample result 6. sample result 7. sample result: achieved P or UEL is the maximum error rate at the stated confidence level.    

